

Graduation and Retention Rates by Program
College of Arts and Sciences Graduate Programs
2023

Prepared by The Office of Institutional Research and Studies
Summer 2023

### **Study Methods**

The study population consists of students who declared a graduate major in Academic Year 2007-08 or later. The study includes any student working toward a Master's degree, Education Specialist (Ed.S.), Doctorate, or Doctor of Professional Practice in Pharmacy. Certificate programs (P.B., P.M., S.D.) are not included at this time. Students were assigned into program cohorts based on the year in which they declared and first enrolled in the major. The study follows students in program cohorts for academic years 2007-08 through 2020-21. Students were tracked within their cohorts to determine the program graduation and retention rates in the major for Year 2, Year 4, and Year 6 from the academic year of declaration. Graduation rates displayed are cumulative, i.e. the rate for Year 6 includes students counted for the Year 4 and Year 2 rates. In 2018, the SIUE Graduation rate at Year 6 was added to the report. This rate includes students in the program graduation rate plus students who changed majors and were awarded an SIUE graduate-level degree in a different program. The retention rates are based on retention in the year displayed only, and students included in the graduation rate are not also included in the retention rate. The credit hours required to graduate for each program are from the Graduate catalog.

Level: Graduate

#### **Department: Applied Communication Studies**

M.A. in Applied Communication Studies (ACS) / Speech Communication (SPC)

				Studies (ACS	,, -1-	Year 2		,				Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	3	3	100.0%	0	0.0%	100.0%	37.0	3	100.0%	0	0.0%	100.0%	37.0	3	100.0%	0	0.0%	100.0%	37.0	0	100.0%
	PT	4	1	25.0%	1	25.0%	50.0%	35.0	2	50.0%	0	0.0%	50.0%	35.0	2	50.0%	0	0.0%	50.0%	35.0	0	50.0%
2008-09	FT	8	6	75.0%	0	0.0%	75.0%	35.0	6	75.0%	0	0.0%	75.0%	35.0	6	75.0%	0	0.0%	75.0%	35.0	1	87.5%
	PT	8	2	25.0%	2	25.0%	50.0%	35.5	3	37.5%	0	0.0%	37.5%	35.0	3	37.5%	1	12.5%	50.0%	35.0	1	50.0%
2009-10	FT	6	5	83.3%	1	16.7%	100.0%	36.0	5	83.3%	0	0.0%	83.3%	36.0	5	83.3%	0	0.0%	83.3%	36.0	0	83.3%
	PT	7	3	42.9%	2	28.6%	71.4%	33.0	3	42.9%	0	0.0%	42.9%	33.0	3	42.9%	0	0.0%	42.9%	33.0	0	42.9%
2010-11	FT	10	9	90.0%	1	10.0%	100.0%	33.0	10	100.0%	0	0.0%	100.0%	33.0	10	100.0%	0	0.0%	100.0%	33.0	0	100.0%
	PT	6	1	16.7%	1	16.7%	33.3%	37.0	2	33.3%	0	0.0%	33.3%	38.5	2	33.3%	0	0.0%	33.3%	38.5	0	33.3%
2011-12	FT	3	3	100.0%	0	0.0%	100.0%	33.0	3	100.0%	0	0.0%	100.0%	33.0	3	100.0%	0	0.0%	100.0%	33.0	0	100.0%
	PT	6	2	33.3%	2	33.3%	66.7%	36.5	2	33.3%	0	0.0%	33.3%	36.5	2	33.3%	0	0.0%	33.3%	36.5	0	33.3%
2012-13	FT	10	8	80.0%	1	10.0%	90.0%	36.0	8	80.0%	0	0.0%	80.0%	36.0	8	80.0%	0	0.0%	80.0%	36.0	0	80.0%
	PT	7	2	28.6%	2	28.6%	57.1%	33.0	3	42.9%	0	0.0%	42.9%	33.0	3	42.9%	0	0.0%	42.9%	33.0	1	57.1%
2013-14	FT	7	6	85.7%	0	0.0%	85.7%	33.0	6	85.7%	0	0.0%	85.7%	33.0	6	85.7%	0	0.0%	85.7%	33.0	1	100.0%
	PT	9	4	44.4%	3	33.3%	77.8%	36.0	5	55.6%	1	11.1%	66.7%	36.0	5	55.6%	0	0.0%	55.6%	36.0	0	55.6%
2014-15	FT	3	2	66.7%	1	33.3%	100.0%	33.0	2	66.7%	0	0.0%	66.7%	33.0	2	66.7%	0	0.0%	66.7%	33.0	0	66.7%
	PT 	8	1	12.5%	1	12.5%	25.0%	33.0	2	25.0%	0	0.0%	25.0%	42.0	2	25.0%	0	0.0%	25.0%	42.0	0	25.0%
2015-16	FT	8	6	75.0%	2	25.0%	100.0%	33.0	7	87.5%	0	0.0%	87.5%	33.0	7	87.5%	0	0.0%	87.5%	33.0	0	87.5%
2046 47	PT	6	1	16.7%	3	50.0%	66.7%	33.0	3	50.0%	0	0.0%	50.0%	33.0	3	50.0%	0	0.0%	50.0%	33.0	0	50.0%
2016-17	FT PT	6 9	5	83.3% 66.7%	0	0.0%	83.3%	33.0	5	83.3% 100.0%	0	0.0%	83.3%	33.0 33.0	5 9	83.3% 100.0%	0	0.0%	83.3% 100.0%	33.0 33.0	1	100.0% 100.0%
2017-18	FT	5	6 4	80.0%	3	33.3% 20.0%	100.0% 100.0%	33.0 33.0	9 5	100.0%	0	0.0%	100.0% 100.0%	33.0	9	100.0%	U	0.0%	100.0%	55.0	U	100.0%
2017-10	PT	3	1	33.3%	1	33.3%	66.7%	33.0	2	66.7%	0	0.0%	66.7%	37.0								
2018-19	FT	2	1	50.0%	0	0.0%	50.0%	33.0	1	50.0%	0	0.0%	50.0%	33.0								
2010-13	PT	9	3	33.3%	2	22.2%	55.6%	36.0	4	44.4%	0	0.0%	44.4%	36.0								
2019-20	FT	4	3	75.0%	0	0.0%	75.0%	33.0	_	77.770	3	0.070	<del></del>	30.0								
12013 20	PT	5	3	60.0%	0	0.0%	60.0%	33.0														
2020-21	FT	3	2	66.7%	0	0.0%	66.7%	33.0														
	PT	7	2	28.6%	2	28.6%	57.1%	33.0														
Constitution								22 25														

Credit hours required to graduate in program:

33 - 35

#### **Department: Art and Design**

M.F.A. in Art (ART/ARTM)

	AIL (AKI)	,				Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	9	0	0.0%	8	88.9%	88.9%		6	66.7%	0	0.0%	66.7%	60.0	6	66.7%	0	0.0%	66.7%	60.0	0	66.7%
	PT	0																				
2008-09	FT PT	6 0	0	0.0%	6	100.0%	100.0%		5	83.3%	0	0.0%	83.3%	60.0	6	100.0%	0	0.0%	100.0%	61.5	0	100.0%
2009-10	FT PT	10 0	0	0.0%	9	90.0%	90.0%		9	90.0%	0	0.0%	90.0%	60.0	9	90.0%	0	0.0%	90.0%	60.0	0	90.0%
2010-11	FT	3	0	0.0%	3	100.0%	100.0%		2	66.7%	0	0.0%	66.7%	60.0	2	66.7%	0	0.0%	66.7%	60.0	0	66.7%
	PT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	60.0	1	100.0%	0	0.0%	100.0%	60.0	0	100.0%
2011-12	FT	2	0	0.0%	2	100.0%	100.0%		2	100.0%	0	0.0%	100.0%	62.5	2	100.0%	0	0.0%	100.0%	62.5	0	100.0%
	PT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	75.0	1	100.0%	0	0.0%	100.0%	75.0	0	100.0%
2012-13	FT	4	0	0.0%	4	100.0%	100.0%		4	100.0%	0	0.0%	100.0%	61.5	4	100.0%	0	0.0%	100.0%	61.5	0	100.0%
	PT	3	0	0.0%	3	100.0%	100.0%		2	66.7%	1	33.3%	100.0%	63.0	3	100.0%	0	0.0%	100.0%	66.0	0	100.0%
2013-14	FT PT	8 0	0	0.0%	7	87.5%	87.5%		6	75.0%	0	0.0%	75.0%	61.5	6	75.0%	0	0.0%	75.0%	61.5	0	75.0%
2014-15	FT	3	0	0.0%	3	100.0%	100.0%		3	100.0%	0	0.0%	100.0%	62.0	3	100.0%	0	0.0%	100.0%	62.0	0	100.0%
	PT	2	0	0.0%	1	50.0%	50.0%		1	50.0%	0	0.0%	50.0%	66.0	1	50.0%	0	0.0%	50.0%	66.0	0	50.0%
2015-16	FT PT	5 0	0	0.0%	5	100.0%	100.0%		5	100.0%	0	0.0%	100.0%	60.0	5	100.0%	0	0.0%	100.0%	60.0	0	100.0%
2016-17	FT PT	8 0	0	0.0%	8	100.0%	100.0%		7	87.5%	0	0.0%	87.5%	63.0	7	87.5%	0	0.0%	87.5%	63.0	0	87.5%
2017-18	FT	2	0	0.0%	2	100.0%	100.0%		2	100.0%	0	0.0%	100.0%	63.0								
	PT	2	0	0.0%	1	50.0%	50.0%		1	50.0%	0	0.0%	50.0%	60.0								
2018-19	FT	2	0	0.0%	2	100.0%	100.0%		1	50.0%	0	0.0%	50.0%	60.0								
	PT	3	0	0.0%	3	100.0%	100.0%		3	100.0%	0	0.0%	100.0%	60.0								
2019-20	FT	7	0	0.0%	6	85.7%	85.7%															
	PT	1	0	0.0%	0	0.0%	0.0%															
2020-21	FT	4	0	0.0%	4	100.0%	100.0%															
Condition to	PT	2	0	0.0%	1	50.0%	50.0%															

Credit hours required to graduate in program:

60

Level: Graduate

### **Department: Art and Design**

M.A. in Art Therapy Counseling (ARTC)

						Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate		Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	10	0	0.0%	10	100.0%	100.0%		9	90.0%	0	0.0%	90.0%	60.0	9	90.0%	0	0.0%	90.0%	60.0	0	90.0%
2008-09	FT	10	0	0.0%	10	100.0%	100.0%		10	100.0%	0	0.0%	100.0%	63.0	10	100.0%	0	0.0%	100.0%	63.0	0	100.0%
2009-10	FT	10	0	0.0%	10	100.0%	100.0%		10	100.0%	0	0.0%	100.0%	62.5	10	100.0%	0	0.0%	100.0%	62.5	0	100.0%
2010-11	FT	10	0	0.0%	10	100.0%	100.0%		9	90.0%	1	10.0%	100.0%	63.0	10	100.0%	0	0.0%	100.0%	63.0	0	100.0%
2011-12	FT	10	0	0.0%	9	90.0%	90.0%		9	90.0%	0	0.0%	90.0%	62.0	9	90.0%	0	0.0%	90.0%	62.0	0	90.0%
2012-13	FT	10	0	0.0%	10	100.0%	100.0%		9	90.0%	1	10.0%	100.0%	63.0	9	90.0%	0	0.0%	90.0%	63.0	0	90.0%
2013-14	FT	10	0	0.0%	10	100.0%	100.0%		10	100.0%	0	0.0%	100.0%	62.0	10	100.0%	0	0.0%	100.0%	62.0	0	100.0%
2014-15	FT	8	0	0.0%	8	100.0%	100.0%		8	100.0%	0	0.0%	100.0%	63.0	8	100.0%	0	0.0%	100.0%	63.0	0	100.0%
	PT	1	0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		0	0.0%
2015-16	FT	9	0	0.0%	9	100.0%	100.0%		7	77.8%	1	11.1%	88.9%	62.0	7	77.8%	1	11.1%	88.9%	62.0	0	77.8%
	PT	2	0	0.0%	1	50.0%	50.0%		1	50.0%	0	0.0%	50.0%	63.0	1	50.0%	0	0.0%	50.0%	63.0	0	50.0%
2016-17	FT	0																				
	PT	11	0	0.0%	10	90.9%	90.9%		9	81.8%	0	0.0%	81.8%	63.0	9	81.8%	0	0.0%	81.8%	63.0	1	90.9%
2017-18	FT	10	0	0.0%	9	90.0%	90.0%		7	70.0%	2	20.0%	90.0%	60.0								
	PT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	58.0								
2018-19	FT	10	0	0.0%	10	100.0%	100.0%		10	100.0%	0	0.0%	100.0%	62.5								
	PT	0																				
2019-20	FT	10	0	0.0%	10	100.0%	100.0%															
	PT	1	0	0.0%	1	100.0%	100.0%															
2020-21	FT	10	0	0.0%	10	100.0%	100.0%															
	PT	0						60														

Credit hours required to graduate in program:

60

#### **Department: Biological Sciences**

M.A. and M.S. in Biological Sciences (BIOL)

						Voor 2						Voor 1		J				Voor C				
			**			Year 2		"	**			Year 4		"	**			Year 6				
			duated#	Program	#	Program	Program	Median Credit	Graduated#	Program	#pə	Program	Program	Median Credit	Graduated#	Program	#	Program	Program	Median Credit	SIUE	SIUE
Cohort	Time		dua	Graduation	ained#	Retention	ŭ		dua	Graduation	aine	Retention	Persistence	Hours to	dua	Graduation	Retained#	Retention	Persistence	Hours to	er S	
	status	Count	Gra	Rate	Ret	Rate	Rate	Degree	Gra	Rate	Ret	Rate	Rate	Degree	Gra	Rate	Ret	Rate	Rate	Degree	Other Grad#	Rate
2007-08	FT	4	1	25.0%	3	75.0%	100.0%	33.0	1	25.0%	1	25.0%	50.0%	33.0	1	25.0%	1	25.0%	50.0%	33.0	1	50.0%
	PT	13	2	15.4%	9	69.2%	84.6%	36.0	4	30.8%	0	0.0%	30.8%	38.5	4	30.8%	0	0.0%	30.8%	38.5	0	30.8%
2008-09	FT	16	9	56.3%	6	37.5%	93.8%	33.0	12	75.0%	2	12.5%	87.5%	33.5	14	87.5%	0	0.0%	87.5%	33.5	0	87.5%
	PT	16	4	25.0%	11	68.8%	93.8%	33.0	6	37.5%	4	25.0%	62.5%	32.5	8	50.0%	2	12.5%	62.5%	32.5	1	56.3%
2009-10	FT	12	5	41.7%	5	41.7%	83.3%	33.0	8	66.7%	2	16.7%	83.3%	33.0	8	66.7%	1	8.3%	75.0%	33.0	0	66.7%
	PT	12	7	58.3%	5	41.7%	100.0%	32.0	9	75.0%	2	16.7%	91.7%	32.0	9	75.0%	0	0.0%	75.0%	32.0	0	75.0%
2010-11	FT	5	1	20.0%	4	80.0%	100.0%	35.0	2	40.0%	2	40.0%	80.0%	40.0	2	40.0%	0	0.0%	40.0%	40.0	0	40.0%
	PT	17	5	29.4%	12	70.6%	100.0%	34.0	8	47.1%	1	5.9%	52.9%	34.5	9	52.9%	0	0.0%	52.9%	34.0	0	52.9%
2011-12	FT	14	4	28.6%	10	71.4%	100.0%	35.0	9	64.3%	2	14.3%	78.6%	35.0	10	71.4%	1	7.1%	78.6%	35.0	0	71.4%
	PT	19	5	26.3%	13	68.4%	94.7%	32.0	14	73.7%	3	15.8%	89.5%	33.5	15	78.9%	0	0.0%	78.9%	34.0	0	78.9%
2012-13	FT	10	3	30.0%	6	60.0%	90.0%	38.0	6	60.0%	0	0.0%	60.0%	38.0	6	60.0%	0	0.0%	60.0%	38.0	0	60.0%
	PT	19	4	21.1%	14	73.7%	94.7%	32.0	10	52.6%	7	36.8%	89.5%	35.0	11	57.9%	3	15.8%	73.7%	35.0	0	57.9%
2013-14	FT	7	2	28.6%	5	71.4%	100.0%	33.5	4	57.1%	2	28.6%	85.7%	37.0	5	71.4%	1	14.3%	85.7%	40.0	0	71.4%
20111	PT	15	3	20.0%	12	80.0%	100.0%	32.0	5	33.3%	3	20.0%	53.3%	32.0	5	33.3%	1	6.7%	40.0%	32.0	1	40.0%
2014-15	FT	8	2	25.0%	5	62.5%	87.5%	33.0	6	75.0%	0	0.0%	75.0%	33.5	6	75.0%	0	0.0%	75.0%	33.5	0	75.0%
2045 46	PT	14	3	21.4%	9	64.3%	85.7%	34.0	4	28.6%	3	21.4%	50.0%	34.0	6	42.9%	0	0.0%	42.9%	34.0	0	42.9%
2015-16	FT	14	8	57.1%	6	42.9%	100.0%	35.0	12	85.7%	1	7.1%	92.9%	35.5	12	85.7%	0	0.0%	85.7%	35.5	0	85.7%
2016 17	PT	13	4	30.8%	8	61.5%	92.3%	37.5	9 7	69.2%	2	15.4%	84.6%	38.0	9	69.2%	1	7.7%	76.9%	38.0	0	69.2%
2016-17	FT PT	11 15	5	27.3% 33.3%	8 8	72.7% 53.3%	100.0% 86.7%	33.0 33.0	8	63.6% 53.3%	1 2	9.1% 13.3%	72.7% 66.7%	35.0 33.5	10	63.6% 66.7%	1 0	9.1% 0.0%	72.7% 66.7%	35.0 33.5	0	72.7% 66.7%
2017-18	FT	9	6	66.7%	2	22.2%	88.9%	34.5	7	77.8%	0	0.0%	77.8%	34.0	10	00.770	U	0.076	00.776	33.3	U	00.776
2017-10	PT	11	3	27.3%	8	72.7%	100.0%	33.0	7	63.6%	2	18.2%	81.8%	35.0								
2018-19	FT	13	7	53.8%	5	38.5%	92.3%	33.0	9	69.2%	2	15.4%	84.6%	34.0								
2010 13	PT	9	4	44.4%	5	55.6%	100.0%	35.0	6	66.7%	1	11.1%	77.8%	35.0								
2019-20	FT	9	3	33.3%	6	66.7%	100.0%	34.0		00.770	_	11.170	77.070	33.0								
	PT	18	5	27.8%	12	66.7%	94.4%	34.0														
2020-21	FT	9	5	55.6%	4	44.4%	100.0%	33.0														
	PT	6	2	33.3%	3	50.0%	83.3%	37.0														
Credit hours	s require	ed to gra	duat	e in program	1:			32														

### **Department: Chemistry**

M.S. in Chemistry (CHEM)

						Year 2						Year 4						Year 6				
Cohort	Time		Graduated#	Program Graduation	Retained#	Program Retention	Program Persistence	Median Credit Hours to	Graduated#	Program Graduation	Retained#	Program Retention	Program Persistence	Median Credit Hours to	raduated#	Program Graduation	etained#	Program Retention	Program Persistence	Median Credit Hours to	Other SIUE Grad#	SIUE Graduation
Year 2007-08	Status FT	Count 7	4	<b>Rate</b> 57.1%		Rate	71.4%	Degree	<u>5</u>	Rate	0	Rate	Rate	Degree	ē	Rate	<u>8</u>	0.0%	71.4%	Degree 40.0	0 0	Rate 71.4%
2007-08	PT	8	3	37.1% 37.5%	1	14.3% 37.5%	71.4% 75.0%	40.0 33.0	5 5	71.4% 62.5%	0	0.0% 0.0%	71.4% 62.5%	40.0 33.0	5 5	71.4% 62.5%	0	0.0%	62.5%	33.0	0	62.5%
2008-09	FT	3	2	66.7%	1	37.5%	100.0%	38.0	3	100.0%	0	0.0%	100.0%	40.0	3	100.0%	0	0.0%	100.0%	40.0	0	100.0%
2008-03	PT	10	3	30.0%	6	60.0%	90.0%	36.0	8	80.0%	1	10.0%	90.0%	35.5	8	80.0%	0	0.0%	80.0%	35.5	1	90.0%
2009-10	FT	7	6	85.7%	1	14.3%	100.0%	35.0	7	100.0%	0	0.0%	100.0%	36.0	7	100.0%	0	0.0%	100.0%	36.0	0	100.0%
2003 10	PT	13	5	38.5%	5	38.5%	76.9%	36.0	8	61.5%	0	0.0%	61.5%	36.0	8	61.5%	0	0.0%	61.5%	36.0	0	61.5%
2010-11	FT	5	5	100.0%	0	0.0%	100.0%	34.0	5	100.0%	0	0.0%	100.0%	34.0	5	100.0%	0	0.0%	100.0%	34.0	0	100.0%
	PT	18	8	44.4%	9	50.0%	94.4%	31.5	14	77.8%	0	0.0%	77.8%	33.0	14	77.8%	0	0.0%	77.8%	33.0	0	77.8%
2011-12	FT	5	4	80.0%	0	0.0%	80.0%	35.0	4	80.0%	0	0.0%	80.0%	35.0	4	80.0%	0	0.0%	80.0%	35.0	1	100.0%
	PT	12	3	25.0%	8	66.7%	91.7%	32.0	11	91.7%	0	0.0%	91.7%	34.0	11	91.7%	0	0.0%	91.7%	34.0	0	91.7%
2012-13	FT	2	2	100.0%	0	0.0%	100.0%	32.0	2	100.0%	0	0.0%	100.0%	32.0	2	100.0%	0	0.0%	100.0%	32.0	0	100.0%
	PT	15	9	60.0%	6	40.0%	100.0%	31.0	15	100.0%	0	0.0%	100.0%	33.0	15	100.0%	0	0.0%	100.0%	33.0	0	100.0%
2013-14	FT	7	4	57.1%	3	42.9%	100.0%	31.0	7	100.0%	0	0.0%	100.0%	31.0	7	100.0%	0	0.0%	100.0%	31.0	0	100.0%
	PT	17	7	41.2%	10	58.8%	100.0%	33.0	17	100.0%	0	0.0%	100.0%	35.0	17	100.0%	0	0.0%	100.0%	35.0	0	100.0%
2014-15	FT	6	5	83.3%	1	16.7%	100.0%	33.0	6	100.0%	0	0.0%	100.0%	33.0	6	100.0%	0	0.0%	100.0%	33.0	0	100.0%
	PT	7	4	57.1%	3	42.9%	100.0%	30.5	6	85.7%	0	0.0%	85.7%	31.0	6	85.7%	0	0.0%	85.7%	31.0	1	100.0%
2015-16	FT	6	5	83.3%	1	16.7%	100.0%	33.0	6	100.0%	0	0.0%	100.0%	32.5	6	100.0%	0	0.0%	100.0%	32.5	0	100.0%
	PT	10	8	80.0%	2	20.0%	100.0%	31.0	9	90.0%	1	10.0%	100.0%	31.0	9	90.0%	0	0.0%	90.0%	31.0	0	90.0%
2016-17	FT	2	1	50.0%	1	50.0%	100.0%	31.0	2	100.0%	0	0.0%	100.0%	34.5	2	100.0%	0	0.0%	100.0%	34.5	0	100.0%
	PT	9	5	55.6%	4	44.4%	100.0%	31.0	7	77.8%	0	0.0%	77.8%	31.0	7	77.8%	0	0.0%	77.8%	31.0	0	77.8%
2017-18	FT	8	5	62.5%	3	37.5%	100.0%	32.0	7	87.5%	0	0.0%	87.5%	32.0								
	PT	7	2	28.6%	4	57.1%	85.7%	31.5	3	42.9%	2	28.6%	71.4%	32.0								
2018-19	FT	2	0	0.0%	2	100.0%	100.0%		0	0.0%	_	0.0%	0.0%									
	PT	21	16	76.2%	5	23.8%	100.0%	32.0	18	85.7%	2	9.5%	95.2%	32.0								
2019-20	FT	3	2	66.7%	1	33.3%	100.0%	30.5														
2020.24	PT	15	11	73.3%	4	26.7%	100.0%	32.0														
2020-21	FT	0	10	76.00/	2	45 40/	02.20/	22.5														
	PT	13	10	76.9% e in program	2	15.4%	92.3%	32.5 <b>30</b>														

### **Southern Illinois University Edwardsville**

### College of Arts and Sciences - Persistence by Major Program through Summer 2022 Level: Graduate

#### **Department: Criminal Justice Studies**

M.S. in Criminal Justice Policy (CRJP)

						Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	rate	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	SIU #	SIUE Graduation Rate
2018-19	FT	11	4	36.4%	6	54.5%	90.9%	36.0	7	63.6%	0	0.0%	63.6%	36.0								
	PT	19	0	0.0%	13	68.4%	68.4%		4	21.1%	3	15.8%	36.8%	36.0								
2019-20	FT	6	2	33.3%	3	50.0%	83.3%	37.5														
	PT	12	3	25.0%	2	16.7%	41.7%	30.0														
2020-21	FT	7	2	28.6%	3	42.9%	71.4%	34.5														
	PT	22	9	40.9%	7	31.8%	72.7%	30.0														
	_		-																			

Credit hours required to graduate in program:

30

### Department: English

M.A. in English (ENGL/ENSL)

	8 (= <u>-</u>	GL/ENSL				Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	9	3	33.3%	5	55.6%	88.9%	30.0	4	44.4%	2	22.2%	66.7%	30.0	4	44.4%	2	22.2%	66.7%	30.0	1	55.6%
	PT	16	1	6.3%	11	68.8%	75.0%	30.0	7	43.8%	2	12.5%	56.3%	33.0	7	43.8%	1	6.3%	50.0%	33.0	0	43.8%
2008-09	FT	14	9	64.3%	4	28.6%	92.9%	33.0	12	85.7%	1	7.1%	92.9%	33.0	13	92.9%	0	0.0%	92.9%	33.0	0	92.9%
	PT	14	3	21.4%	6	42.9%	64.3%	33.0	6	42.9%	1	7.1%	50.0%	34.5	7	50.0%	0	0.0%	50.0%	33.0	0	50.0%
2009-10	FT	18	5	27.8%	10	55.6%	83.3%	30.0	8	44.4%	1	5.6%	50.0%	33.0	10	55.6%	1	5.6%	61.1%	33.0	1	61.1%
	PT	20	4	20.0%	16	80.0%	100.0%	31.5	10	50.0%	4	20.0%	70.0%	31.5	12	60.0%	2	10.0%	70.0%	31.5	3	75.0%
2010-11	FT	14	8	57.1%	5	35.7%	92.9%	30.0	11	78.6%	0	0.0%	78.6%	30.0	11	78.6%	0	0.0%	78.6%	30.0	1	85.7%
	PT	36	5	13.9%	25	69.4%	83.3%	30.0	19	52.8%	3	8.3%	61.1%	30.0	23	63.9%	1	2.8%	66.7%	30.0	1	66.7%
2011-12	FT	10	5	50.0%	3	30.0%	80.0%	36.0	7	70.0%	1	10.0%	80.0%	36.0	7	70.0%	0	0.0%	70.0%	36.0	0	70.0%
	PT	17	6	35.3%	10	58.8%	94.1%	30.0	13	76.5%	3	17.6%	94.1%	30.5	14	82.4%	2	11.8%	94.1%	30.5	1	88.2%
2012-13	FT	6	3	50.0%	3	50.0%	100.0%	33.0	5	83.3%	0	0.0%	83.3%	33.0	5	83.3%	0	0.0%	83.3%	33.0	0	83.3%
	PT	9	3	33.3%	5	55.6%	88.9%	33.0	6	66.7%	0	0.0%	66.7%	34.5	6	66.7%	0	0.0%	66.7%	34.5	0	66.7%
2013-14	FT	11	6	54.5%	4	36.4%	90.9%	31.5	8	72.7%	2	18.2%	90.9%	33.0	8	72.7%	0	0.0%	72.7%	33.0	2	90.9%
	PT	14	1	7.1%	9	64.3%	71.4%	30.0	5	35.7%	2	14.3%	50.0%	30.0	7	50.0%	0	0.0%	50.0%	33.0	0	50.0%
2014-15	FT	14	7	50.0%	6	42.9%	92.9%	33.0	13	92.9%	0	0.0%	92.9%	33.0	13	92.9%	0	0.0%	92.9%	33.0	0	92.9%
2045 46	PT	12	3	25.0%	9	75.0%	100.0%	33.0	8	66.7%	4	33.3%	100.0%	33.0	9	75.0%	0	0.0%	75.0%	33.0	0	75.0%
2015-16	FT	9	8	88.9%	1	11.1%	100.0%	30.0	9	100.0%	0	0.0%	100.0%	30.0	9	100.0%	0	0.0%	100.0%	30.0	0	100.0%
2016-17	PT	17	2	11.8% 75.0%	13	76.5%	88.2%	30.0	8	47.1% 75.0%	3	17.6%	64.7% 100.0%	31.5 30.0	9	52.9%	0	0.0%	52.9%	33.0	0	52.9% 75.0%
2016-17	FT PT	4 14	5 5	75.0% 35.7%	1 9	25.0% 64.3%	100.0% 100.0%	30.0 30.0	3 10	75.0% 71.4%	1 3	25.0% 21.4%	92.9%	30.0	3 12	75.0% 85.7%	0	0.0% 0.0%	75.0% 85.7%	30.0 30.0	0	75.0% 85.7%
2017-18	FT	6	2	33.3%	3	50.0%	83.3%	33.0	3	50.0%	1	16.7%	66.7%	33.0	12	03.770	U	0.076	03.770	30.0		85.776
2017-10	PT	9	0	0.0%	4	44.4%	44.4%	33.0	1	11.1%	1	11.1%	22.2%	33.0								
2018-19	FT	6	6	100.0%	0	0.0%	100.0%	33.0	6	100.0%	0	0.0%	100.0%	33.0								
	PT	9	3	33.3%	5	55.6%	88.9%	30.0	8	88.9%	0	0.0%	88.9%	31.5								
2019-20	FT	6	3	50.0%	2	33.3%	83.3%	30.0						0 = 10								
7	PT	10	2	20.0%	5	50.0%	70.0%	31.5														
2020-21	FT	3	2	66.7%	1	33.3%	100.0%	33.0														
	PT	4	1	25.0%	2	50.0%	75.0%	30.0														
Credit hou	rs requir	ed to gra	adua	te in program	:			30														

#### **Department: Environmental Sciences**

M.S. in Environmental Sciences (ENSC)

W1.3. III EII						Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	3	1	33.3%	2	66.7%	100.0%	36.0	3	100.0%	0	0.0%	100.0%	48.0	3	100.0%	0	0.0%	100.0%	48.0	0	100.0%
	PT	7	1	14.3%	5	71.4%	85.7%	36.0	4	57.1%	0	0.0%	57.1%	40.5	4	57.1%	1	14.3%	71.4%	40.5	0	57.1%
2008-09	FT	5	1	20.0%	2	40.0%	60.0%	37.0	2	40.0%	0	0.0%	40.0%	35.0	2	40.0%	0	0.0%	40.0%	35.0	2	80.0%
	PT	7	1	14.3%	5	71.4%	85.7%	35.0	2	28.6%	3	42.9%	71.4%	36.5	4	57.1%	0	0.0%	57.1%	36.5	0	57.1%
2009-10	FT	6	1	16.7%	5	83.3%	100.0%	38.0	4	66.7%	0	0.0%	66.7%	39.0	4	66.7%	0	0.0%	66.7%	39.0	1	83.3%
	PT	10	1	10.0%	8	80.0%		38.0	4	40.0%	2	20.0%	60.0%	37.0	4	40.0%	2	20.0%	60.0%	37.0	1	50.0%
2010-11	FT	7	3	42.9%	4	57.1%	100.0%	36.0	3	42.9%	1	14.3%	57.1%	36.0	3	42.9%	0	0.0%	42.9%	36.0	0	42.9%
	PT	12	1	8.3%	11	91.7%		35.0	5	41.7%	3	25.0%	66.7%	35.0	7	58.3%	1	8.3%	66.7%	37.0	1	66.7%
2011-12	FT	1	0	0.0%	0	0.0%	0.0%		0	0.0%	1	100.0%	100.0%		0	0.0%	1	100.0%	100.0%		0	0.0%
	PT	10	0	0.0%	4	40.0%	40.0%		1	10.0%	2	20.0%	30.0%	37.0	1	10.0%	0	0.0%	10.0%	37.0	4	50.0%
2012-13	FT	0																				
	PT	6	1	16.7%	4	66.7%	83.3%	58.0	4	66.7%	1	16.7%	83.3%	35.5	4	66.7%	0	0.0%	66.7%	35.5	0	66.7%
2013-14	FT	5	0	0.0%	5	100.0%	100.0%		3	60.0%	1	20.0%	80.0%	38.0	3	60.0%	1	20.0%	80.0%	38.0	1	80.0%
	PT	15	1	6.7%	11	73.3%	80.0%	41.0	6	40.0%	3	20.0%	60.0%	37.0	7	46.7%	0	0.0%	46.7%	36.0	1	53.3%
2014-15	FT	6	0	0.0%	4	66.7%	66.7%		4	66.7%	0	0.0%	66.7%	37.5	4	66.7%	0	0.0%	66.7%	37.5	0	66.7%
	PT	8	1	12.5%	7	87.5%	100.0%	35.0	6	75.0%	2	25.0%	100.0%	36.5	7	87.5%	0	0.0%	87.5%	37.0	0	87.5%
2015-16	FT	4	1	25.0%	3	75.0%	100.0%	45.0	4	100.0%	0	0.0%	100.0%	42.0	4	100.0%	0	0.0%	100.0%	42.0	0	100.0%
2016 17	PT	11 3	0	0.0% 66.7%	8	72.7%	72.7%	42.5	7	63.6%	1	9.1%	72.7%	38.0	7	63.6%	0	0.0%	63.6%	38.0	0	63.6%
2016-17	FT PT	_	2	11.1%	1	33.3% 33.3%	100.0%	42.5	2	66.7% 11.1%	0	0.0%	66.7%	42.5	2	66.7% 22.2%	0	0.0% 33.3%	66.7%	42.5	1	100.0% 33.3%
2017-18	FT	9	1	33.3%	3	66.7%	44.4% 100.0%	34.0 38.0	1 2	66.7%	2	22.2% 33.3%	33.3% 100.0%	34.0 36.5		22.2%	3	33.3%	55.6%	34.0	1	33.3%
2017-18	PT	9	2	22.2%	5	55.6%	77.8%	33.5	7	77.8%	0	0.0%	77.8%	36.0								
2018-19	FT	6	2	33.3%	4	66.7%	100.0%	40.0	5	83.3%	1	16.7%	100.0%	38.0								
2010-19	PT	6	2	33.3%	3	50.0%	83.3%	34.5	5	83.3%	0	0.0%	83.3%	36.0								
2019-20	FT	2	0	0.0%	0	0.0%	0.0%	34.5	,	03.370	J	0.070	03.370	30.0								
	PT	12	2	16.7%	9	75.0%	91.7%	35.0														
2020-21	FT	3	2	66.7%	1	33.3%	100.0%	37.5														
	PT	6	2	33.3%	2	33.3%	66.7%	36.0														
Cuadit has						33.373	00.770	22 20														

Credit hours required to graduate in program:

33 - 38

### Southern Illinois University Edwardsville

### College of Arts and Sciences - Persistence by Major Program through Summer 2022 Level: Graduate

#### **Department: Environmental Sciences**

P.S.M. in Environmental Science Management (ESMG)

						Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	2	1	50.0%	1	50.0%	100.0%	42.0	2	100.0%	0	0.0%	100.0%	43.0	2	100.0%	0	0.0%	100.0%	43.0	0	100.0%
	PT	1	0	0.0%	1	100.0%	100.0%		0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		0	0.0%
2008-09	FT PT	1 3	0	0.0% 0.0%	1 1	100.0% 33.3%	100.0% 33.3%		1 0	100.0% 0.0%	0 0	0.0% 0.0%	100.0% 0.0%	38.0	1 0	100.0% 0.0%	0	0.0% 0.0%	100.0% 0.0%	38.0	0 2	100.0% 66.7%
2009-10	FT	2	0	0.0%	1	50.0%	50.0%		0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		2	100.0%
	PT	4	0	0.0%	3	75.0%	75.0%		1	25.0%	1	25.0%	50.0%	43.0	1	25.0%	1	25.0%	50.0%	43.0	2	75.0%
2010-11	FT	3	1	33.3%	2	66.7%	100.0%	38.0	2	66.7%	0	0.0%	66.7%	41.5	2	66.7%	0	0.0%	66.7%	41.5	0	66.7%
	PT	3	2	66.7%	1	33.3%	100.0%	37.5	3	100.0%	0	0.0%	100.0%	39.0	3	100.0%	0	0.0%	100.0%	39.0	0	100.0%
2011-12	FT	2	1	50.0%	1	50.0%	100.0%	38.0	1	50.0%	0	0.0%	50.0%	38.0	1	50.0%	0	0.0%	50.0%	38.0	0	50.0%
	PT	2	0	0.0%	1	50.0%	50.0%		0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		1	50.0%
2012-13	FT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	47.0	1	100.0%	0	0.0%	100.0%	47.0	0	100.0%
	PT	1	1	100.0%	0	0.0%	100.0%	41.0	1	100.0%	0	0.0%	100.0%	41.0	1	100.0%	0	0.0%	100.0%	41.0	0	100.0%
2013-14	FT PT	0 1	0	0.0%	1	100.0%	100.0%		0	0.0%	1	100.0%	100.0%		0	0.0%	0	0.0%	0.0%		0	0.0%
2014-15	FT PT	0 0																				
2015-16	FT PT	0 2	0	0.0%	1	50.0%	50.0%		0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		1	50.0%
2016-17	FT PT	1 2	1	100.0%	0	0.0%	100.0% 50.0%	41.0	1	100.0%	0	0.0% 50.0%	100.0% 50.0%	41.0	1	100.0% 50.0%	0	0.0%	100.0% 50.0%	41.0 38.0	0	100.0% 100.0%
2017-18	FT PT	0	Ū	0.070	-	30.070	30.070		J	0.070	-	30.070	30.070		_	30.070		0.070	30.070	30.0		100.070
2018-19	FT PT	1	1 1	100.0% 100.0%	0	0.0% 0.0%	100.0% 100.0%	47.0 43.0	1 1	100.0% 100.0%	0	0.0% 0.0%	100.0% 100.0%	47.0 43.0								
2019-20	FT	0	-	100.070	J	0.070	100.070	13.0	_	100.070		0.070	100.070	10.0								
	PT	1	0	0.0%	0	0.0%	0.0%	0.0														
2020-21	FT	0																				
Cuadia ha	PT	•		e in program				36														

#### **Department: Geography**

M.S. in Geography (GEOG)

M.S. in Ge	-ogrupny	(0200)				Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	1	0	0.0%	1	100.0%	100.0%	208.00	1	100.0%	0	0.0%	100.0%	54.0	1	100.0%	0	0.0%	100.0%	54.0	0	100.0%
	PT	9	0	0.0%	3	33.3%	33.3%		2	22.2%	1	11.1%	33.3%	36.0	3	33.3%	0	0.0%	33.3%	36.0	1	44.4%
2008-09	FT	2	1	50.0%	1	50.0%	100.0%	30.0	2	100.0%	0	0.0%	100.0%	34.5	2	100.0%	0	0.0%	100.0%	34.5	0	100.0%
	PT	6	0	0.0%	4	66.7%	66.7%		0	0.0%	2	33.3%	33.3%		1	16.7%	0	0.0%	16.7%	36.0	0	16.7%
2009-10	FT	2	0	0.0%	2	100.0%	100.0%		0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		0	0.0%
	PT	14	0	0.0%	12	85.7%	85.7%		6	42.9%	2	14.3%	57.1%	36.0	6	42.9%	0	0.0%	42.9%	36.0	0	42.9%
2010-11	FT	4	1	25.0%	3	75.0%	100.0%	39.0	4	100.0%	0	0.0%	100.0%	37.5	4	100.0%	0	0.0%	100.0%	37.5	0	100.0%
	PT	13	1	7.7%	9	69.2%	76.9%	36.0	6	46.2%	3	23.1%	69.2%	37.5	8	61.5%	1	7.7%	69.2%	39.0	1	69.2%
2011-12	FT	2	2	100.0%	0	0.0%	100.0%	33.0	2	100.0%	0	0.0%	100.0%	33.0	2	100.0%	0	0.0%	100.0%	33.0	0	100.0%
	PT	11	1	9.1%	6	54.5%	63.6%	30.0	2	18.2%	0	0.0%	18.2%	33.0	3	27.3%	0	0.0%	27.3%	33.0	0	27.3%
2012-13	FT	3	1	33.3%	2	66.7%	100.0%	30.0	1	33.3%	1	33.3%	66.7%	30.0	1	33.3%	1	33.3%	66.7%	30.0	0	33.3%
	PT	13	6	46.2%	6	46.2%	92.3%	34.5	9	69.2%	3	23.1%	92.3%	36.0	10	76.9%	1	7.7%	84.6%	36.0	1	84.6%
2013-14	FT	3	0	0.0%	3	100.0%	100.0%		0	0.0%	2	66.7%	66.7%		0	0.0%	2	66.7%	66.7%		0	0.0%
	PT	6	0	0.0%	5	83.3%	83.3%		2	33.3%	2	33.3%	66.7%	33.0	3	50.0%	0	0.0%	50.0%	36.0	0	50.0%
2014-15	FT	7	2	28.6%	4	57.1%	85.7%	34.5	5	71.4%	0	0.0%	71.4%	36.0	6	85.7%	0	0.0%	85.7%	36.0	1	100.0%
	PT	5	0	0.0%	3	60.0%	60.0%		2	40.0%	0	0.0%	40.0%	36.0	2	40.0%	0	0.0%	40.0%	36.0	0	40.0%
2015-16	FT	3	3	100.0%	0	0.0%	100.0%	36.0	3	100.0%	0	0.0%	100.0%	36.0	3	100.0%	0	0.0%	100.0%	36.0	0	100.0%
	PT	8	0	0.0%	4	50.0%	50.0%		4	50.0%	0	0.0%	50.0%	37.5	4	50.0%	0	0.0%	50.0%	37.5	0	50.0%
2016-17	FT	1	0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		0	0.0%	0	0.0%	0.0%		0	0.0%
	PT	5	2	40.0%	2	40.0%	80.0%	36.0	2	40.0%	2	40.0%	80.0%	36.0	3	60.0%	1	20.0%	80.0%	36.0	0	60.0%
2017-18	FT	4	2	50.0%	2	50.0%	100.0%	37.0	4	100.0%		0.0%	100.0%	38.0								
	PT	4	0	0.0%	4	100.0%	100.0%		1	25.0%	2	50.0%	75.0%	30.0								
2018-19	FT	4	3	75.0%	1	25.0%	100.0%	33.0	3	75.0%	1	25.0%	100.0%	33.0								
	PT	5	0	0.0%	3	60.0%	60.0%		0	0.0%	1	20.0%	20.0%									
2019-20	FT	4	0	0.0%	4	100.0%	100.0%															
	PT	5	2	40.0%	3	60.0%	100.0%	34.5														
2020-21	FT	4	1	25.0%	3	75.0%	100.0%	36.0														
	PT	10	1	10.0%	8	80.0%	90.0%	30.0														

Credit hours required to graduate in program:

30 - 36

### **Department: History**

M.A. in History (HIST)

IVI.A. III FII		·				Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	3	0	0.0%	3	100.0%	100.0%	Degree	1	33.3%	2	66.7%	100.0%	38.0	3	100.0%	0	0.0%	100.0%	50.0	0	100.0%
	PT	9	0	0.0%	7	77.8%	77.8%		3	33.3%	2	22.2%	55.6%	41.0	4	44.4%	0	0.0%	44.4%	39.5	1	55.6%
2008-09	FT	1	1	100.0%	0	0.0%	100.0%	35.0	1	100.0%	0	0.0%	100.0%	35.0	1	100.0%	0	0.0%	100.0%	35.0	0	100.0%
	PT	11	0	0.0%	7	63.6%	63.6%		3	27.3%	2	18.2%	45.5%	35.0	3	27.3%	0	0.0%	27.3%	35.0	0	27.3%
2009-10	FT	3	0	0.0%	3	100.0%	100.0%		2	66.7%	1	33.3%	100.0%	46.0	2	66.7%	0	0.0%	66.7%	46.0	0	66.7%
	PT	11	1	9.1%	6	54.5%	63.6%	35.0	4	36.4%	3	27.3%	63.6%	37.0	5	45.5%	2	18.2%	63.6%	38.0	1	54.5%
2010-11	FT	3	0	0.0%	3	100.0%	100.0%		1	33.3%	1	33.3%	66.7%	53.0	1	33.3%	0	0.0%	33.3%	53.0	0	33.3%
	PT	7	0	0.0%	7	100.0%	100.0%		1	14.3%	3	42.9%	57.1%	38.0	1	14.3%	2	28.6%	42.9%	38.0	2	42.9%
2011-12	FT	4	2	50.0%	1	25.0%	75.0%	34.5	3	75.0%	0	0.0%	75.0%	35.0	3	75.0%	0	0.0%	75.0%	35.0	0	75.0%
	PT	7	0	0.0%	7	100.0%	100.0%		3	42.9%	1	14.3%	57.1%	50.0	3	42.9%	0	0.0%	42.9%	50.0	1	57.1%
2012-13	FT	3	0	0.0%	3	100.0%	100.0%		2	66.7%	0	0.0%	66.7%	45.5	2	66.7%	0	0.0%	66.7%	45.5	0	66.7%
	PT	6	0	0.0%	5	83.3%	83.3%		3	50.0%	2	33.3%	83.3%	38.0	4	66.7%	2	33.3%	100.0%	39.5	0	66.7%
2013-14	FT	2	1	50.0%	1	50.0%	100.0%	38.0	1	50.0%	1	50.0%	100.0%	38.0	1	50.0%	0	0.0%	50.0%	38.0	0	50.0%
	PT	6	0	0.0%	5	83.3%	83.3%		2	33.3%	1	16.7%	50.0%	38.0	2	33.3%	0	0.0%	33.3%	38.0	1	50.0%
2014-15	FT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	42.0	1	100.0%	0	0.0%	100.0%	42.0	0	100.0%
	PT	6	2	33.3%	2	33.3%	66.7%	40.5	3	50.0%	1	16.7%	66.7%	39.0	4	66.7%	0	0.0%	66.7%	37.5	0	66.7%
2015-16	FT	2	1	50.0%	1	50.0%	100.0%	45.0	2	100.0%	0	0.0%	100.0%	48.0	2	100.0%	0	0.0%	100.0%	48.0	0	100.0%
2046 47	PT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	33.0	1	100.0%	0	0.0%	100.0%	33.0	0	100.0%
2016-17	FT PT	1 4	0	0.0% 0.0%	1 4	100.0% 100.0%	100.0% 100.0%		0 2	0.0% 50.0%	0	0.0% 25.0%	0.0% 75.0%	43.5	0	0.0% 50.0%	0	0.0% 0.0%	0.0% 50.0%	43.5	0 1	0.0% 75.0%
2017-18	FT	2	0	0.0%	2	100.0%	100.0%		2	100.0%	0	0.0%	100.0%	46.5	2	50.0%	U	0.0%	50.0%	43.5	1	75.0%
2017-10	PT	3	0	0.0%	1	33.3%	33.3%		1	33.3%	0	0.0%	33.3%	36.0								
2018-19	FT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	36.0								
2010-13	PT	7	0	0.0%	4	57.1%	57.1%		3	42.9%	1	14.3%	57.1%	39.0								
2019-20	FT	3	1	33.3%	2	66.7%	100.0%	33.0	,	72.370	-	14.570	37.170	33.0								
	PT	5	3	60.0%	2	40.0%	100.0%	36.0														
2020-21	FT	2	0	0.0%	0	0.0%	0.0%	33.3														
<b>-</b>	PT	6	0	0.0%	6	100.0%	100.0%															
Credit hou		ed to gra	adua	te in program	:			35														

#### **Department: Mass Communication**

M.S. in Media Studies (MEST), formerly Mass Communication (MC)

						Year 2						Year 4						Year 6				
Program Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	5	0	0.0%	<u>~</u>	100.0%	100.0%	Degree	2	40.0%	2	40.0%	80.0%	39.5	3	60.0%	2	40.0%	100.0%	33.0	0	60.0%
2007 00	PT	6	0	0.0%	3	50.0%	50.0%		1	16.7%	1	16.7%	33.3%	30.0	1	16.7%	0	0.0%	16.7%	30.0	1	33.3%
2008-09	FT	7	1	14.3%	6	85.7%	100.0%	30.0	4	57.1%	1	14.3%	71.4%	30.0	4	57.1%	0	0.0%	57.1%	30.0	1	71.4%
	PT	7	1	14.3%	4	57.1%	71.4%	30.0	3	42.9%	1	14.3%	57.1%	30.0	3	42.9%	0	0.0%	42.9%	30.0	0	42.9%
2009-10	FT	8	4	50.0%	4	50.0%	100.0%	30.0	6	75.0%	1	12.5%	87.5%	30.0	6	75.0%	0	0.0%	75.0%	30.0	1	87.5%
	PT	7	2	28.6%	4	57.1%	85.7%	30.5	3	42.9%	1	14.3%	57.1%	30.0	4	57.1%	0	0.0%	57.1%	30.0	0	57.1%
2010-11	FT	5	2	40.0%	3	60.0%	100.0%	31.5	3	60.0%	0	0.0%	60.0%	33.0	4	80.0%	0	0.0%	80.0%	31.5	0	80.0%
	PT	11	1	9.1%	4	36.4%	45.5%	30.0	2	18.2%	1	9.1%	27.3%	33.0	2	18.2%	1	9.1%	27.3%	33.0	1	27.3%
2011-12	FT	6	2	33.3%	4	66.7%	100.0%	30.0	4	66.7%	0	0.0%	66.7%	30.0	4	66.7%	1	16.7%	83.3%	30.0	0	66.7%
	PT	11	2	18.2%	6	54.5%	72.7%	30.0	4	36.4%	1	9.1%	45.5%	48.0	5	45.5%	0	0.0%	45.5%	30.0	0	45.5%
2012-13	FT	0																				
	PT	5	1	20.0%	4	80.0%	100.0%	30.0	3	60.0%	0	0.0%	60.0%	30.0	4	80.0%	0	0.0%	80.0%	30.0	0	80.0%
2013-14	FT	3	2	66.7%	1	33.3%	100.0%	30.0	2	66.7%	0	0.0%	66.7%	30.0	3	100.0%	0	0.0%	100.0%	30.0	0	100.0%
	PT	5	1	20.0%	4	80.0%	100.0%	33.0	2	40.0%	2	40.0%	80.0%	33.0	2	40.0%	1	20.0%	60.0%	33.0	0	40.0%
2014-15	FT	8	3	37.5%	4	50.0%	87.5%	30.0	5	62.5%	1	12.5%	75.0%	30.0	5	62.5%	1	12.5%	75.0%	30.0	1	75.0%
	PT	4	1	25.0%	1	25.0%	50.0%	31.0	2	50.0%	0	0.0%	50.0%	33.5	2	50.0%	0	0.0%	50.0%	33.5	0	50.0%
2015-16	FT	4	0	0.0%	3	75.0%	75.0%		2	50.0%	0	0.0%	50.0%	33.0	2	50.0%	0	0.0%	50.0%	33.0	0	50.0%
	PT	3	1	33.3%	1	33.3%	66.7%	30.0	1	33.3%	1	33.3%	66.7%	30.0	1	33.3%	1	33.3%	66.7%	30.0	0	33.3%
2016-17	FT	4	3	75.0%	1	25.0%	100.0%	30.0	4	100.0%	0	0.0%	100.0%	33.0	4	100.0%	0	0.0%	100.0%	33.0	0	100.0%
	PT	6	2	33.3%	3	50.0%	83.3%	30.0	3	50.0%	0	0.0%	50.0%	30.0	3	50.0%	0	0.0%	50.0%	30.0	0	50.0%
2017-18	FT	0		22.20/	4	22.20/	66.70/	20.0	2	66.70/	•	0.00/	CC 70/	20.0								
2010 10	PT	3	1	33.3%	1	33.3%	66.7%	30.0	2	66.7%	0	0.0%	66.7%	30.0								
2018-19	FT	2	2	100.0%	0	0.0%	100.0%	30.0	2	100.0%	0	0.0%	100.0%	30.0								
2010 20	PT	2	0	0.0% 100.0%	2	100.0% 0.0%	100.0% 100.0%	30.0	2	100.0%	0	0.0%	100.0%	48.0								
2019-20	FT PT	2	0	0.0%	1	50.0%	50.0%	30.0														
2020-21	FT	4	4	100.0%	0	0.0%	100.0%	33.0														
2020-21	PT	1	0	0.0%	0	0.0%	0.0%	33.0														
Credit hou		ed to gra	•	e in program		0.070	0.070	30														

#### **Department: Mathematics and Statistics**

M.S. in Mathematics (MATH)

		•				Year 2						Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	5	0	0.0%	_ <del></del>	100.0%	100.0%	Degree	2	40.0%	0	0.0%	40.0%	37.5	2	40.0%	0	0.0%	40.0%	37.5	0	40.0%
	PT	10	2	20.0%	8	80.0%	100.0%	34.5	6	60.0%	0	0.0%	60.0%	34.5	6	60.0%	0	0.0%	60.0%	34.5	0	60.0%
2008-09	FT	2	1	50.0%	0	0.0%	50.0%	39.0	1	50.0%	0	0.0%	50.0%	39.0	1	50.0%	0	0.0%	50.0%	39.0	1	100.0%
	PT	9	1	11.1%	6	66.7%	77.8%	30.0	5	55.6%	1	11.1%	66.7%	30.0	6	66.7%	0	0.0%	66.7%	30.0	0	66.7%
2009-10	FT	5	3	60.0%	1	20.0%	80.0%	39.0	4	80.0%	0	0.0%	80.0%	37.5	4	80.0%	0	0.0%	80.0%	37.5	1	100.0%
	PT	15	1	6.7%	10	66.7%	73.3%	30.0	8	53.3%	1	6.7%	60.0%	30.0	9	60.0%	0	0.0%	60.0%	30.0	1	66.7%
2010-11	FT	5	1	20.0%	4	80.0%	100.0%	33.0	3	60.0%	0	0.0%	60.0%	39.0	3	60.0%	0	0.0%	60.0%	39.0	2	100.0%
	PT	26	5	19.2%	16	61.5%	80.8%	36.0	13	50.0%	2	7.7%	57.7%	36.0	15	57.7%	0	0.0%	57.7%	36.0	2	65.4%
2011-12	FT	2	2	100.0%	0	0.0%	100.0%	33.0	2	100.0%	0	0.0%	100.0%	33.0	2	100.0%	0	0.0%	100.0%	33.0	0	100.0%
	PT	17	3	17.6%	9	52.9%	70.6%	36.0	8	47.1%	4	23.5%	70.6%	34.5	8	47.1%	0	0.0%	47.1%	34.5	2	58.8%
2012-13	FT	3	0	0.0%	3	100.0%	100.0%		1	33.3%	1	33.3%	66.7%	63.0	1	33.3%	0	0.0%	33.3%	63.0	2	100.0%
	PT	10	3	30.0%	6	60.0%	90.0%	30.0	7	70.0%	0	0.0%	70.0%	30.0	7	70.0%	0	0.0%	70.0%	30.0	0	70.0%
2013-14	FT	4	2	50.0%	2	50.0%	100.0%	49.5	3	75.0%	0	0.0%	75.0%	69.0	3	75.0%	0	0.0%	75.0%	69.0	0	75.0%
	PT	11	2	18.2%	5	45.5%	63.6%	30.0	5	45.5%	0	0.0%	45.5%	30.0	5	45.5%	0	0.0%	45.5%	30.0	0	45.5%
2014-15	FT	0			_																	
	PT	16	7	43.8%	6	37.5%	81.3%	33.0	10	62.5%	0	0.0%	62.5%	33.0	10	62.5%	0	0.0%	62.5%	33.0	1	68.8%
2015-16	FT	5	1	20.0%	4	80.0%	100.0%	39.0	2	40.0%	1	20.0%	60.0%	34.5	2	40.0%	1	20.0%	60.0%	34.5	1	60.0%
2016 15	PT	7	1	14.3%	5	71.4%	85.7%	33.0	3	42.9%	3	42.9%	85.7%	33.0	5	71.4%	0	0.0%	71.4%	30.0	0	71.4%
2016-17	FT	9	3	33.3%	6	66.7%	100.0%	30.0	9	100.0%	0	0.0%	100.0%	30.0	9	100.0%	0	0.0%	100.0%	30.0	0	100.0%
2017-18	PT FT	7	2	28.6% 66.7%	2	28.6%	57.1%	31.5	4	57.1% 100.0%	0	0.0%	57.1%	30.0 36.0	4	57.1%	0	0.0%	57.1%	30.0	1	71.4%
2017-18	PT	3 7	2	0.0%	1 4	33.3% 57.1%	100.0% 57.1%	33.0	3 2	28.6%	1	0.0% 14.3%	100.0% 42.9%	67.5								
2018-19	FT	2	1	50.0%	1	50.0%	100.0%	30.0	1	50.0%	1	50.0%	100.0%	30.0								
2010-19	PT	9	0	0.0%	8	88.9%	88.9%	30.0	6	66.7%	1	11.1%	77.8%	33.0								
2019-20	FT	0	U	0.070	U	00.570	00.570		U	00.770		11.1/0	77.070	33.0								
	PT	10	3	30.0%	5	50.0%	80.0%	33.0														
2020-21	FT	3	3	100.0%	0	0.0%	100.0%	33.0														
<b>-</b>	PT	5	1	20.0%	2	40.0%	60.0%	30.0														
Credit hou		ed to gra	adua	te in program				30														

#### **Department: Music**

M.M. in Music (MUS)

Year 2									Year 4									Year 6							
Cohort	Time	Count	Graduated#	Program Graduation	Retained#	Program Retention	Program Persistence	Median Credit Hours to	Graduated#	Program Graduation	Retained#	Program Retention	Program Persistence	Median Credit Hours to	Graduated#	Program Graduation	Retained#	Program Retention	Program Persistence	Median Credit Hours to	Other SIUE Grad#	SIUE Graduation			
Year 2007-08	Status FT	Count 9	3	Rate 33.3%	<u>∝</u> 4	Rate 44.4%	<b>Rate</b> 77.8%	Degree 42.0	7	77.8%	0	0.0%	77.8%	Degree 47.0	7	77.8%	0	0.0%	77.8%	Degree 47.0	0	<b>Rate</b> 77.8%			
2007 00	PT	9	2	22.2%	4	44.4%	66.7%	36.5	4	44.4%	1	11.1%	55.6%	37.0	4	44.4%	1	11.1%	55.6%	37.0	0	44.4%			
2008-09	FT	4	2	50.0%	2	50.0%	100.0%	36.5	2	50.0%	0	0.0%	50.0%	36.5	3	75.0%	0	0.0%	75.0%	37.0	0	75.0%			
	PT	11	3	27.3%	8	72.7%	100.0%	38.0	8	72.7%	1	9.1%	81.8%	36.0	8	72.7%	1	9.1%	81.8%	36.0	0	72.7%			
2009-10	FT	4	1	25.0%	3	75.0%	100.0%	45.0	2	50.0%	1	25.0%	75.0%	39.5	2	50.0%	0	0.0%	50.0%	39.5	0	50.0%			
	PT	3	1	33.3%	2	66.7%	100.0%	42.0	2	66.7%	1	33.3%	100.0%	42.5	2	66.7%	0	0.0%	66.7%	42.5	0	66.7%			
2010-11	FT	2	1	50.0%	1	50.0%	100.0%	38.0	1	50.0%	0	0.0%	50.0%	38.0	1	50.0%	0	0.0%	50.0%	38.0	0	50.0%			
	PT	4	1	25.0%	2	50.0%	75.0%	36.0	3	75.0%	0	0.0%	75.0%	36.0	3	75.0%	0	0.0%	75.0%	36.0	0	75.0%			
2011-12	FT	2	2	100.0%	0	0.0%	100.0%	42.0	2	100.0%	0	0.0%	100.0%	42.0	2	100.0%	0	0.0%	100.0%	42.0	0	100.0%			
	PT	8	7	87.5%	0	0.0%	87.5%	38.0	7	87.5%	0	0.0%	87.5%	38.0	7	87.5%	0	0.0%	87.5%	38.0	0	87.5%			
2012-13	FT	3	1	33.3%	0	0.0%	33.3%	40.0	1	33.3%	0	0.0%	33.3%	40.0	1	33.3%	1	33.3%	66.7%	40.0	0	33.3%			
	PT	9	5	55.6%	3	33.3%	88.9%	38.0	7	77.8%	0	0.0%	77.8%	38.0	8	88.9%	0	0.0%	88.9%	38.0	0	88.9%			
2013-14	FT	0	_						_												_				
2014 45	PT	10	2	20.0%	4	40.0%	60.0%	38.0	3	30.0%	1	10.0%	40.0%	36.0	4	40.0%	1	10.0%	50.0%	36.0	0	40.0%			
2014-15	FT	6	6	100.0% 66.7%	0	0.0%	100.0%	39.0	6	100.0% 100.0%	0	0.0% 0.0%	100.0% 100.0%	39.0	6	100.0%	0	0.0% 0.0%	100.0% 100.0%	39.0 42.0	0	100.0% 100.0%			
2015-16	PT FT	3	2	75.0%	1	33.3% 25.0%	100.0% 100.0%	40.0 38.0	3 4	100.0%	0	0.0%	100.0%	42.0 38.5	3	100.0% 100.0%	0	0.0%	100.0%	38.5	0	100.0%			
2013-10	PT	6	3	50.0%	3	50.0%	100.0%	36.0	4	66.7%	2	33.3%	100.0%	39.0	5	83.3%	0	0.0%	83.3%	42.0	0	83.3%			
2016-17	FT	4	3	75.0%	0	0.0%	75.0%	36.0	3	75.0%	0	0.0%	75.0%	36.0	3	75.0%	0	0.0%	75.0%	36.0	0	75.0%			
2010 17	PT	5	1	20.0%	4	80.0%	100.0%	37.0	3	60.0%	1	20.0%	80.0%	37.0	4	80.0%	0	0.0%	80.0%	39.0	0	80.0%			
2017-18	FT	4	2	50.0%	2	50.0%	100.0%	46.5	2	50.0%		0.0%	50.0%	46.5											
	PT	5	2	40.0%	3	60.0%	100.0%	33.5	3	60.0%	2	40.0%	100.0%	33.0											
2018-19	FT	5	4	80.0%	1	20.0%	100.0%	37.0	5	100.0%	0	0.0%	100.0%	38.0											
	PT	12	7	58.3%	3	25.0%	83.3%	38.0	9	75.0%	1	8.3%	83.3%	38.0											
2019-20	FT	3	1	33.3%	2	66.7%	100.0%	44.0																	
	PT	6	1	16.7%	5	83.3%	100.0%	34.0																	
2020-21	FT	3	3	100.0%	0	0.0%	100.0%	36.0																	
	PT	8	1	12.5%	6	75.0%	87.5%	34.0																	
Credit hou	edit hours required to graduate in program:																								

#### **Department: Public Administration**

M.P.A. in Public Administration (PUBA)

Color   Time   First	M.P.A. in				(		Year 2						Year 4			Year 6							
200-90			Count	Graduated#	Graduation	Retained#	Program Retention	Persistence	Credit Hours to	Graduated#	Graduation	Retained#	Program Retention	Persistence	Credit Hours to	Graduated#	Graduation	Retained#	Program Retention	Persistence	Credit Hours to	Other SIUE Grad#	
2008-09 FT 23 10 43.5% 11 47.8% 91.3% 44.5 18 78.3% 1 4.3% 82.6% 44.5 19 82.6% 0 0.0% 82.6% 46.0 2 91.3% 40.0 25 85.1% 40.0 25 85.1% 40.0 25 82.1% 41.0 0 85.7% 40.0 25 82.1% 41.0 0 85.7% 40.0 24 85.7% 0 0.0% 85.1% 40.0 1 60.5% 40.0 25 82.1% 41.0 0 85.7% 40.0 24 85.7% 0 0.0% 85.7% 41.0 0 85.7% 40.0 25 82.1% 41.0 0 85.7% 40.0 24 85.7% 0 0.0% 85.7% 41.0 0 85.7% 40.0 25 82.1% 1 8.7% 82.6% 1 8.7%	2007-08	FT			50.0%		37.5%	87.5%			83.3%		4.2%	87.5%					0.0%	83.3%			
PT 43 6 14.0% 28 65.1% 79.1% 40.0 21 48.8% 4 9.3% 58.1% 40.0 25 58.1% 0 0.0% 58.1% 40.0 1 60.5% 2009-10 FT 28 18 64.3% 7 25.0% 88.3% 40.0 23 82.1% 1 3.6% 85.7% 40.0 24 85.7% 0 0.0% 85.7% 41.0 0 85.7% 2010-11 FT 30 18 60.0% 8 26.7% 86.7% 40.0 24 80.0% 1 3.3% 83.3% 40.0 24 80.0% 0 0.0% 80.0% 40.0 2 86.7% PT 43 7 16.3% 30 69.8% 86.0% 40.0 26 60.5% 2 4.7% 65.1% 40.0 27 62.8% 1 2.3% 65.1% 40.0 0 62.8% PT 43 7 16.3% 30 69.8% 86.0% 40.0 26 60.5% 2 4.7% 65.1% 40.0 27 62.8% 1 2.3% 65.1% 40.0 0 88.7% PT 43 6 14.0% 23 53.5% 67.4% 40.0 16 37.2% 4 9.3% 46.5% 41.5 20 46.5% 1 2.3% 65.1% 40.0 88.7% 2012-13 FT 25 17 68.0% 6 24.0% 92.0% 40.0 16 37.2% 4 9.3% 46.0% 40.0 21 84.0% 0 0.0% 89.0% 40.0 0 84.0% PT 48 11 22.9% 21 43.8% 66.7% 40.0 12 84.0% 40.0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 0 84.0% PT 48 11 22.9% 21 43.8% 66.7% 40.0 12 48.0% 40.0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 0 84.0% PT 48 11 22.9% 21 43.8% 66.7% 40.0 12 45.8% 4 8.3% 54.2% 40.0 24 50.0% 1 2.1% 52.1% 40.0 3 56.3% 2013-14 FT 35 24 68.6% 10 28.6% 97.1% 41.5 32 91.4% 1 2.9% 94.3% 42.0 32 91.4% 0 0.0% 91.4% 42.0 1 94.3% 2014-15 FT 26 9 34.6% 10 38.5% 73.1% 40.0 14 53.8% 1 3.8% 57.7% 40.0 15 57.7% 0 0.0% 57.7% 40.0 1 94.3% 21.2% 56.1% 40.0 22 58.5% 40.0 22 58.5% 40.0 22 58.5% 40.0 22 58.5% 40.0 22 58.5% 40.0 22 58.5% 40.0 1 22.4% 58.5% 40.0 1 22.4% 58.5% 40.0 2 58.5% 40.0 1 22.4% 58.5% 40.0 1 22.5% 56.5% 40.0 1 17.50.0% 10 0.0% 57.7% 4		PT	57	4	7.0%	37	64.9%	71.9%	40.0	27	47.4%	5	8.8%	56.1%	40.0	30	52.6%	2	3.5%	56.1%	40.0	3	57.9%
200-10	2008-09																						
PT 53 5 9.4% 26 49.1% 58.5% 46.0 19 35.8% 4 7.5% 43.4% 40.0 21 39.6% 1 1.9% 41.5% 40.0 4 47.2% 2010-11 FT 30 18 60.0% 8 26.7% 86.7% 40.0 24 80.0% 1 3.3% 83.3% 40.0 24 80.0% 0 0.0% 80.0% 40.0 2 86.7% PT 43 7 16.3% 30 69.8% 86.0% 40.0 26 60.5% 2 4.7% 65.1% 40.0 27 62.8% 1 2.3% 65.1% 40.0 0 62.8% 2011-12 FT 29 21 72.4% 7 24.1% 96.6% 40.0 16 37.2% 4 9.3% 46.5% 41.5 20 46.5% 1 2.3% 48.8% 41.5 2 51.2% 1 2012-13 FT 25 17 68.0% 6 24.0% 92.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 24 80.0% 1 23.3% 48.8% 41.5 2 51.2% 1 43.8% 66.7% 40.0 22 45.8% 4 8.3% 54.2% 40.0 21 84.0% 0 0.0% 84.0% 40.0 0 88.0% 40.0 2 85.5% 1 2.3% 48.8% 41.5 2 51.2% 1 43.8% 66.7% 40.0 22 45.8% 4 8.3% 54.2% 40.0 24 50.0% 1 21.5% 52.1% 40.0 3 56.3% 2013-14 FT 35 24 68.6% 10 28.6% 97.1% 41.5 32 91.4% 1 2.9% 94.3% 42.0 32 91.4% 0 0.0% 91.4% 42.0 1 94.3% PT 41 4 9.8% 26 63.4% 73.2% 40.0 14 53.8% 1 3.8% 57.7% 40.0 15 57.7% 0 0.0% 57.7% 40.0 15 57.7% 40.0 15 57.7% 40.0 15 57.7% 40.0 15 57.7% 40.0 15 57.7% 40.0 15 57.7% 40.0 15 57.7% 40.0 15 57.7% 40.0 2 58.5% 2015-16 FT 36 22 61.1% 10 27.8% 88.9% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 12 50.5% 1 3.8% 34.6% 40.0 2 59.5% 40.0 40.0 40.0 40.0 40.0 40.0 40.0 40.																							
2010-11   FT   30   18   60.0%   8   26.7%   86.7%   40.0   24   80.0%   1   3.3%   83.3%   40.0   24   80.0%   0   0.0%   80.0%   40.0   2   86.7%   2011-12   FT   29   21   72.4%   7   24.1%   96.6%   40.0   26   89.7%   40.0   2.3%   48.8%   41.5   2   51.2%   40.0   40.	2009-10																					_	
PT 43 7 16.3% 30 69.8% 86.0% 40.0 26 60.5% 2 4.7% 65.1% 40.0 27 62.8% 1 2.3% 65.1% 40.0 0 62.8% 2011-12 FT 29 21 72.4% 7 24.1% 96.6% 40.0 26 89.7% 0 0.0% 89.7% 40.0 26 89.7% 0 0.0% 89.7% 40.0 0 89.7% 40.0 26 89.7% 0 0.0% 89.7% 40.0 0 89.7% 40.0 26 89.7% 0 0.0% 89.7% 40.0 0 89.7% 40.0 26 89.7% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 24 50.0% 1 2.1% 52.1% 40.0 3 56.3% 2014-15 FT 26 9 34.6% 10 38.5% 73.2% 40.0 18 43.9% 5 12.2% 56.1% 40.0 22 53.7% 2 4.9% 58.5% 40.0 2 58	2010 11																					•	
2011-12 FT 29 21 72.4% 7 24.1% 96.6% 40.0 26 89.7% 0 0.0% 89.7% 40.0 26 89.7% 0 0.0% 89.7% 40.0 0 89.7% 40.0 21 84.0% 10 0.0% 89.7% 40.0 22 45.8% 41.5 20 46.5% 1 2.3% 48.8% 41.5 2 51.2% 49.3% 46.5% 41.5 20 46.5% 1 2.3% 48.8% 41.5 2 51.2% 49.3% 46.5% 41.5 20 46.5% 1 2.3% 48.8% 41.5 2 51.2% 49.3% 48.8% 41.5 2 51.2% 49.3% 48.8% 41.5 2 51.2% 49.0% 49.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 3 56.3% 2013-14 FT 35 24 68.6% 10 28.6% 97.1% 41.5 32 91.4% 1 2.9% 94.3% 42.0 32 91.4% 0 0.0% 91.4% 42.0 1 94.3% 2014-15 FT 26 9 34.6% 10 38.5% 73.1% 40.0 14 53.8% 1 3.8% 57.7% 40.0 15 57.7% 0 0.0% 57.7% 40.0 2 58.5% 2015-16 FT 36 22 61.1% 10 27.8% 88.9% 40.0 18 48.6% 4 10.8% 59.5% 40.0 20 54.1% 0 0.0% 54.1% 40.0 2 2 59.5% 2016-17 FT 21 14 66.7% 6 28.6% 95.2% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 1 75.0% PT 20 4 18.2% 12 54.5% 72.7% 40.0 11 50.0% 0 0.0% 50.0% 40.0 18 85.7% 40.0 18 85	2010-11																						
PT 43 6 14.0% 23 53.5% 67.4% 40.0 16 37.2% 4 9.3% 46.5% 41.5 20 46.5% 1 2.3% 48.8% 41.5 2 51.2% 2012-13 FT 25 17 68.0% 6 24.0% 92.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 0 0 84.0% 40.0 21 84.0% 1 22.9% 91.4% 1 22.9% 91.3% 1 22.9% 1 22.9% 1 22.9% 1 22.9% 1 22.9% 1 22.9% 1 22.9	2011 12																					_	
2012-13 FT 25 17 68.0% 6 24.0% 92.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 21 84.0% 0 0.0% 84.0% 40.0 0 0 84.0% 2013-14 FT 48 11 22.9% 21 43.8% 66.7% 40.0 22 45.8% 4 8.3% 54.2% 40.0 24 50.0% 1 2.1% 52.1% 40.0 3 56.3% 2013-14 FT 35 24 68.6% 10 28.6% 97.1% 41.5 32 91.4% 1 2.9% 94.3% 42.0 32 91.4% 0 0.0% 91.4% 42.0 1 94.3% 2014-15 FT 26 9 34.6% 10 38.5% 73.2% 40.0 14 53.8% 1 3.8% 57.7% 40.0 15 57.7% 0 0.0% 57.7% 40.0 2 58.5% 2014-15 FT 36 22 61.1% 10 27.8% 88.9% 40.0 18 48.6% 4 10.8% 59.5% 40.0 20 54.1% 0 0.0% 57.7% 40.0 3 69.2% 2015-16 FT 36 22 61.1% 10 27.8% 88.9% 40.0 16 72.2% 1 2.8% 75.0% 40.0 26 72.2% 0 0.0% 57.2% 40.0 1 75.0% 2016-17 FT 21 14 66.7% 6 28.6% 95.2% 40.0 17 581.0% 1 4.8% 85.7% 40.0 18 85.7% 0 0.0% 50.0% 40.0 1 90.5% 40.0 1 9	2011-12																					-	
PT 48 11 22.9% 21 43.8% 66.7% 40.0 22 45.8% 4 8.3% 54.2% 40.0 24 50.0% 1 2.1% 52.1% 40.0 3 56.3% 2013-14 FT 35 24 68.6% 10 28.6% 97.1% 41.5 32 91.4% 1 2.9% 94.3% 42.0 32 91.4% 0 0.0% 91.4% 42.0 1 94.3% 2014-15 FT 26 9 34.6% 10 38.5% 73.1% 40.0 14 53.8% 1 38.8% 57.7% 40.0 15 57.7% 0 0.0% 57.7% 40.0 2 58.5% 2014-15 FT 26 9 34.6% 10 38.5% 73.1% 40.0 14 53.8% 1 38.8% 57.7% 40.0 15 57.7% 0 0.0% 57.7% 40.0 2 59.5% 2015-16 FT 36 22 61.1% 10 27.8% 88.9% 40.0 26 72.2% 1 2.8% 75.0% 40.0 20 54.1% 0 0.0% 54.1% 40.0 1 75.0% PT 21 14 66.7% 6 28.6% 95.2% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 12 59.5% 2016-17 FT 21 14 66.7% 6 28.6% 95.2% 40.0 17 81.0% 1 4.8% 85.7% 40.0 18 85.7% 40.0 18 85.7% 40.0 18 85.7% 40.0 18 85.7% 40.0 18 85.7% 40.0 18 85.7% 40.0 19 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0 PT 22 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 41.5 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 40.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0	2012-13																						
2013-14 FT 35	2012 15																					_	
2014-15 FT 26 9 34.6% 10 38.5% 73.1% 40.0 14 53.8% 1 3.8% 57.7% 40.0 20 54.1% 0 0.0% 57.7% 40.0 3 69.2% PT 37 9 24.3% 17 45.9% 70.3% 40.0 18 48.6% 4 10.8% 59.5% 40.0 20 54.1% 0 0.0% 54.1% 40.0 2 59.5% 2015-16 FT 36 22 61.1% 10 27.8% 88.9% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 85.7% 40.0 1 90.5% PT 26 2 7.7% 14 53.8% 61.5% 41.0 8 30.8% 3 11.5% 42.3% 40.0 8 30.8% 1 3.8% 34.6% 40.0 2 38.5% 2017-18 FT 28 19 67.9% 6 21.4% 89.3% 40.0 22 78.6% 0 0.0% 78.6% 41.5 PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0 PT 2018-19 FT 21 16 76.2% 3 14.3% 90.5% 40.0 18 85.7% 0 0.0% 85.7% 40.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0	2013-14																						
PT 37 9 24.3% 17 45.9% 70.3% 40.0 18 48.6% 4 10.8% 59.5% 40.0 20 54.1% 0 0.0% 54.1% 40.0 2 59.5% 2015-16 FT 36 22 61.1% 10 27.8% 88.9% 40.0 26 72.2% 1 2.8% 75.0% 40.0 26 72.2% 0 0.0% 72.2% 40.0 1 75.0% PT 22 4 18.2% 12 54.5% 72.7% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 85.7% 40.0 1 90.5% PT 26 2 7.7% 14 53.8% 61.5% 41.0 8 30.8% 3 11.5% 42.3% 40.0 8 30.8% 1 3.8% 34.6% 40.0 2 38.5% 2017-18 FT 28 19 67.9% 6 21.4% 89.3% 40.0 22 78.6% 0 0.0% 78.6% 41.5 PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0 2018-19 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 20 1 5.0% 11 55.0% 60.0% 40.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0		PT	41	4	9.8%	26	63.4%	73.2%	40.0	18	43.9%	5	12.2%	56.1%	40.0	22	53.7%	2	4.9%	58.5%	40.0	2	58.5%
2015-16 FT 36 22 61.1% 10 27.8% 88.9% 40.0 26 72.2% 1 2.8% 75.0% 40.0 26 72.2% 0 0.0% 72.2% 40.0 1 75.0% PT 22 4 18.2% 12 54.5% 72.7% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 12 50.0% 40.0 13 50.0% 40.0 14 68.2% PT 26 2 7.7% 14 53.8% 61.5% 41.0 8 30.8% 3 11.5% 42.3% 40.0 8 30.8% 1 3.8% 34.6% 40.0 2 38.5% PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 40.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0	2014-15	FT	26	9	34.6%	10	38.5%	73.1%	40.0	14	53.8%	1	3.8%	57.7%	40.0	15	57.7%	0	0.0%	57.7%	40.0	3	69.2%
PT 22 4 18.2% 12 54.5% 72.7% 40.0 11 50.0% 0 0.0% 50.0% 40.0 11 50.0% 0 0.0% 50.0% 40.0 14 68.2% 2016-17 FT 21 14 66.7% 6 28.6% 95.2% 40.0 17 81.0% 1 4.8% 85.7% 40.0 18 85.7% 0 0.0% 85.7% 40.0 1 90.5% PT 26 2 7.7% 14 53.8% 61.5% 41.0 8 30.8% 3 11.5% 42.3% 40.0 8 30.8% 1 3.8% 34.6% 40.0 2 38.5% 2017-18 FT 28 19 67.9% 6 21.4% 89.3% 40.0 22 78.6% 0 0.0% 78.6% 41.5 PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 20 1 15.0% 10 50.0% 60.0% 46.0 PT 20 1 15.0% 11 55.0% 60.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0		PT	37	9	24.3%	17	45.9%	70.3%	40.0	18	48.6%	4	10.8%	59.5%	40.0	20	54.1%	0	0.0%	54.1%	40.0	2	59.5%
2016-17 FT 21 14 66.7% 6 28.6% 95.2% 40.0 17 81.0% 1 4.8% 85.7% 40.0 18 85.7% 0 0.0% 85.7% 40.0 1 90.5% PT 26 2 7.7% 14 53.8% 61.5% 41.0 8 30.8% 3 11.5% 42.3% 40.0 8 30.8% 1 3.8% 34.6% 40.0 2 38.5% 2017-18 FT 28 19 67.9% 6 21.4% 89.3% 40.0 22 78.6% 0 0.0% 78.6% 41.5 PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 10 50.0% 10 50.0% 10 50.0% 40.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0	2015-16	FT	36	22	61.1%	10	27.8%	88.9%	40.0	26	72.2%	1	2.8%	75.0%	40.0	26	72.2%	0	0.0%	72.2%	40.0	1	75.0%
PT 26 2 7.7% 14 53.8% 61.5% 41.0 8 30.8% 3 11.5% 42.3% 40.0 8 30.8% 1 3.8% 34.6% 40.0 2 38.5% 2017-18 FT 28 19 67.9% 6 21.4% 89.3% 40.0 22 78.6% 0 0.0% 78.6% 41.5 PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0		PT	22	4	18.2%	12	54.5%	72.7%	40.0	11	50.0%	0	0.0%	50.0%	40.0	11	50.0%	0	0.0%	50.0%	40.0	4	68.2%
2017-18 FT 28 19 67.9% 6 21.4% 89.3% 40.0 22 78.6% 0 0.0% 78.6% 41.5 PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0  2018-19 FT 21 16 76.2% 3 14.3% 90.5% 40.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 PT 22 22 100.0% 0 0.0% 100.0% 40.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0	2016-17	FT	21	14		6		95.2%	40.0	17		1	4.8%	85.7%	40.0	18		0		85.7%	40.0	1	
PT 20 2 10.0% 10 50.0% 60.0% 45.5 9 45.0% 2 10.0% 55.0% 43.0  2018-19 FT 21 16 76.2% 3 14.3% 90.5% 40.0 18 85.7% 0 0.0% 85.7% 40.0  PT 20 1 5.0% 11 55.0% 60.0% 46.0 10 50.0% 1 5.0% 55.0% 41.5  2019-20 FT 22 22 100.0% 0 0.0% 100.0% 40.0  PT 16 2 12.5% 6 37.5% 50.0% 46.0  2020-21 FT 22 17 77.3% 3 13.6% 90.9% 40.0  PT 18 2 11.1% 13 72.2% 83.3% 40.0			26	2								3				8	30.8%	1	3.8%	34.6%	40.0	2	38.5%
2018-19 FT 21 16 76.2% 3 14.3% 90.5% 40.0 18 85.7% 0 0.0% 85.7% 40.0 PT 20 1 5.0% 11 55.0% 60.0% 46.0 10 50.0% 1 5.0% 55.0% 41.5  2019-20 FT 22 22 100.0% 0 0.0% 100.0% 40.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0	2017-18																						
PT 20 1 5.0% 11 55.0% 60.0% 46.0 10 50.0% 1 5.0% 55.0% 41.5  2019-20 FT 22 22 100.0% 0 0.0% 100.0% 40.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0  2020-21 FT 22 17 77.3% 3 13.6% 90.9% 40.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0																							
2019-20 FT 22 22 100.0% 0 0.0% 100.0% 40.0 PT 16 2 12.5% 6 37.5% 50.0% 46.0 2020-21 FT 22 17 77.3% 3 13.6% 90.9% 40.0 PT 18 2 11.1% 13 72.2% 83.3% 40.0	2018-19																						
PT       16       2       12.5%       6       37.5%       50.0%       46.0         2020-21       FT       22       17       77.3%       3       13.6%       90.9%       40.0         PT       18       2       11.1%       13       72.2%       83.3%       40.0	2040 20									10	50.0%	1	5.0%	55.0%	41.5								
2020-21     FT     22     17     77.3%     3     13.6%     90.9%     40.0       PT     18     2     11.1%     13     72.2%     83.3%     40.0	2019-20																						
PT 18 2 11.1% 13 72.2% 83.3% 40.0	2020 21																						
	2020-21																						
Credit hours required to graduate in program: 39	Crodit has						12.270	03.370	40.0 <b>39</b>														

#### **Department: Social Work**

M.S.W. in Social Work (SOCW)

IVI.3.VV. III	Year 2											Year 4						Year 6				
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	24	20	83.3%	2	8.3%	91.7%	57.0	21	87.5%	0	0.0%	87.5%	57.0	21	87.5%	0	0.0%	87.5%	57.0	0	87.5%
	PT	14	5	35.7%	5	35.7%	71.4%	57.0	9	64.3%	0	0.0%	64.3%	57.0	9	64.3%	0	0.0%	64.3%	57.0	0	64.3%
2008-09	FT	33	31	93.9%	1	3.0%	97.0%	33.0	32	97.0%	0	0.0%	97.0%	33.0	32	97.0%	0	0.0%	97.0%	33.0	0	97.0%
	PT	23	9	39.1%	10	43.5%	82.6%	32.0	15	65.2%	1	4.3%	69.6%	35.0	15	65.2%	0	0.0%	65.2%	35.0	0	65.2%
2009-10	FT	41	38	92.7%	1	2.4%	95.1%	32.0	38	92.7%	0	0.0%	92.7%	32.0	38	92.7%	0	0.0%	92.7%	32.0	0	92.7%
	PT	13	5	38.5%	4	30.8%	69.2%	30.0	8	61.5%	0	0.0%	61.5%	31.5	8	61.5%	0	0.0%	61.5%	31.5	0	61.5%
2010-11	FT	35	32	91.4%	2	5.7%	97.1%	33.0	32	91.4%	1	2.9%	94.3%	33.0	32	91.4%	0	0.0%	91.4%	33.0	1	94.3%
	PT	16	4	25.0%	9	56.3%	81.3%	30.0	11	68.8%	1	6.3%	75.0%	60.0	12	75.0%	0	0.0%	75.0%	60.0	0	75.0%
2011-12	FT	23	20	87.0%	1	4.3%	91.3%	30.0	20	87.0%	0	0.0%	87.0%	30.0	20	87.0%	0	0.0%	87.0%	30.0	0	87.0%
	PT	6	4	66.7%	1	16.7%	83.3%	30.0	4	66.7%	1	16.7%	83.3%	30.0	5	83.3%	0	0.0%	83.3%	30.0	0	83.3%
2012-13	FT	26	23	88.5%	3	11.5%	100.0%	30.0	24	92.3%	0	0.0%	92.3%	30.0	24	92.3%	0	0.0%	92.3%	30.0	0	92.3%
	PT	16	10	62.5%	2	12.5%	75.0%	30.0	11	68.8%	0	0.0%	68.8%	30.0	11	68.8%	0	0.0%	68.8%	30.0	0	68.8%
2013-14	FT	31	27	87.1%	1	3.2%	90.3%	30.0	28	90.3%	0	0.0%	90.3%	31.5	28	90.3%	0	0.0%	90.3%	31.5	0	90.3%
	PT	12	5	41.7%	4	33.3%	75.0%	30.0	8	66.7%	1	8.3%	75.0%	60.0	9	75.0%	0	0.0%	75.0%	60.0	0	75.0%
2014-15	FT	22	20	90.9%	1	4.5%	95.5%	60.0	20	90.9%	1	4.5%	95.5%	60.0	20	90.9%	0	0.0%	90.9%	60.0	1	95.5%
	PT	17	7	41.2%	5	29.4%	70.6%	30.0	9	52.9%	0	0.0%	52.9%	60.0	10	58.8%	0	0.0%	58.8%	60.0	0	58.8%
2015-16	FT	16	15	93.8%	0	0.0%	93.8%	30.0	15	93.8%	0	0.0%	93.8%	30.0	15	93.8%	0	0.0%	93.8%	30.0	0	93.8%
2016 17	PT FT	9	3	33.3% 100.0%	5	55.6% 0.0%	88.9%	60.0	6	66.7%	1	11.1%	77.8%	60.0	6	66.7%	0	0.0%	66.7%	60.0	2	88.9%
2016-17	PT	31 5	31	40.0%	0	20.0%	100.0% 60.0%	30.0 45.0	31 4	100.0% 80.0%	0	0.0% 0.0%	100.0% 80.0%	30.0 45.0	31 4	100.0% 80.0%	0	0.0% 0.0%	100.0% 80.0%	30.0 45.0	0	100.0% 80.0%
2017-18	FT	19	19	100.0%	0	0.0%	100.0%	30.0	19	100.0%	0	0.0%	100.0%	30.0	4	60.0%	U	0.0%	00.0%	45.0	U	80.0%
2017-10	PT	8	4	50.0%	3	37.5%	87.5%	31.5	6	75.0%	1	12.5%	87.5%	45.0								
2018-19	FT	22	17	77.3%	3	13.6%	90.9%	30.0	19	86.4%	0	0.0%	86.4%	30.0								
2010 13	PT	12	9	75.0%	2	16.7%	91.7%	33.0	11	91.7%	0	0.0%	91.7%	60.0								
2019-20	FT	23	22	95.7%	0	0.0%	95.7%	60.0		31.770		0.070	31.77	00.0								
	PT	11	4	36.4%	5	45.5%	81.8%	45.0														
2020-21	FT	32	22	68.8%	9	28.1%	96.9%	30.0														
	PT	7	3	42.9%	3	42.9%	85.7%	30.0														
Constitution													1									

Credit hours required to graduate in program:

30 - 60 (30 for students admitted with advanced standing, 60 for regular standing)

### **Department: Sociology**

M.A. in Sociology (SOC)

IVI.A. III SC						Year 2						Year 4										
Cohort Year	Time Status	Count	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Graduated#	Program Graduation Rate	Retained#	Program Retention Rate	Program Persistence Rate	Median Credit Hours to Degree	Other SIUE Grad#	SIUE Graduation Rate
2007-08	FT	0						. 0						-0								
	PT	7	1	14.3%	2	28.6%	42.9%	33.0	1	14.3%	1	14.3%	28.6%	33.0	1	14.3%	1	14.3%	28.6%	33.0	1	28.6%
2008-09	FT	3	1	33.3%	2	66.7%	100.0%	33.0	2	66.7%	0	0.0%	66.7%	33.0	2	66.7%	0	0.0%	66.7%	33.0	0	66.7%
	PT	9	2	22.2%	5	55.6%	77.8%	35.0	3	33.3%	0	0.0%	33.3%	33.0	3	33.3%	1	11.1%	44.4%	33.0	0	33.3%
2009-10	FT	1	0	0.0%	1	100.0%	100.0%		1	100.0%	0	0.0%	100.0%	36.0	1	100.0%	0	0.0%	100.0%	36.0	0	100.0%
	PT	12	2	16.7%	5	41.7%	58.3%	30.0	3	25.0%	1	8.3%	33.3%	33.0	3	25.0%	0	0.0%	25.0%	33.0	1	33.3%
2010-11	FT	3	1	33.3%	2	66.7%	100.0%	33.0	1	33.3%	1	33.3%	66.7%	33.0	1	33.3%	0	0.0%	33.3%	33.0	1	66.7%
	PT	12	1	8.3%	7	58.3%	66.7%	63.0	1	8.3%	3	25.0%	33.3%	63.0	2	16.7%	3	25.0%	41.7%	51.0	0	16.7%
2011-12	FT	4	0	0.0%	4	100.0%	100.0%		0	0.0%	2	50.0%	50.0%		0	0.0%	1	25.0%	25.0%		0	0.0%
	PT	16	0	0.0%	10	62.5%	62.5%	33.0	5	31.3%	1	6.3%	37.5%	33.0	5	31.3%	1	6.3%	37.5%	33.0	1	37.5%
2012-13	FT	6	1	16.7%	4	66.7%	83.3%	33.0	3	50.0%	2	33.3%	83.3%	33.0	3	50.0%	1	16.7%	66.7%	33.0	2	83.3%
	PT	5	1	20.0%	1	20.0%	40.0%	33.0	1	20.0%	0	0.0%	20.0%	33.0	1	20.0%	0	0.0%	20.0%	33.0	0	20.0%
2013-14	FT	2	1	50.0%	1	50.0%	100.0%	33.0	1	50.0%	1	50.0%	100.0%	33.0	1	50.0%	1	50.0%	100.0%	33.0	0	50.0%
	PT	7	1	14.3%	5	71.4%	85.7%	33.0	4	57.1%	1	14.3%	71.4%	33.0	4	57.1%	0	0.0%	57.1%	33.0	0	57.1%
2014-15	FT	2	0	0.0%	2	100.0%	100.0%		1	50.0%	0	0.0%	50.0%	45.0	2	100.0%	0	0.0%	100.0%	39.0	0	100.0%
	PT	10	0	0.0%	7	70.0%	70.0%		3	30.0%	2	20.0%	50.0%	33.0	3	30.0%	1	10.0%	40.0%	33.0	2	50.0%
2015-16	FT	8	2	25.0%	4	50.0%	75.0%	33.0	2	25.0%	1	12.5%	37.5%	33.0	2	25.0%	1	12.5%	37.5%	33.0	2	50.0%
	PT	8	0	0.0%	5	62.5%	62.5%		1	12.5%	0	0.0%	12.5%	33.0	1	12.5%	0	0.0%	12.5%	33.0	1	25.0%
2016-17	FT	2	1	50.0%	1	50.0%	100.0%	33.0	1	50.0%	0	0.0%	50.0%	33.0	1	50.0%	0	0.0%	50.0%	33.0	0	50.0%
	PT	6	1	16.7%	2	33.3%	50.0%	36.0	3	50.0%	0	0.0%	50.0%	36.0	3	50.0%	0	0.0%	50.0%	36.0	0	50.0%
2017-18	FT	5	2	40.0%	3	60.0%	100.0%	33.0	2	40.0%	2	40.0%	80.0%	33.0								
2010 10	PT	2	0	0.0%	2	100.0%	100.0%	22.0	0	0.0%	0	0.0%	0.0%	22.0								
2018-19	FT	5	2	40.0%	2	40.0%	80.0%	33.0	4	80.0%	0	0.0%	80.0%	33.0								
2010 20	PT	4	0	0.0%	1	25.0%	25.0%	26.0	0	0.0%	0	0.0%	0.0%									
2019-20	FT PT	8	2	25.0%	6	75.0%	100.0%	36.0														
2020-21	FT	0	1	100.0%	0	0.0%	100.0%	33.0														
2020-21	PT	1 4	1	25.0%	0 2	50.0%	75.0%	33.0														
Cradit has		•				30.0%	73.070	33.0 33														
creatt not	redit hours required to graduate in program:																					